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S.S. JAIN SUBODH GIRLS P.G. COLLEGE, SANGANER, JAIPUR
B.Com. Part-1 Internal Examination, 2022
(FACULTY OF COMMERCE)
ACCOUNTANCY AND BUSINESS STATISTICS
(CORPORATE AND FINANCIAL ACCOUNTING (PAPER-I))

Time Allowed: Three Hours Maximum Marks: 100

No supplementary answer book will be given to any candidate. Hence the candidates should write the
answers precisely in the main answer book only. All the parts of one question should be answered at one
place in the answer book. One complete question should not be answered at different places in the answer
book.

fat oft oRemeft &1 g v Suv-g Rt 48 & aief ) em okt B B o=fRe B 9 g e R g Raer i
Hwm g o omfad  FHANIW I smiage MAEARR g & 9w g g Ras ¥
I WA U g e &9 Ud ©) [ 0% & FY |

Attempt any five questions. All questions carry equal marks.

fefidmys & S dfomwi el s & 3 & HaAHE |

UNIT -1

Q.No.1
Explain the meaning of ‘Revenue’. How are the different types of revenues recognized in
accounting?
‘e’ wr oot s (A er S am B e w s F fF 9 PR g B e B

OR

Swati Company Ltd. issued a prospectus inviting applications for 8,000 equity share of Rs. 100
each at a premium of Rs. 20 per share; payable as Rs. 30 on application. Rs. 45 (including
premium) on allotment. Rs 25 on first call and the balance on second & final call.
Applications were received from 12,000 shares. Allotment was made pro-rata to the applicants for
9,600 shares, the remaining applications being refused. Money over-paid on applications was
employed on account of sums due on allotment.
Ramesh to whom 160 shares were allotted, failed to pay the allotment money and on his
subsequent failure to pay the first call, his shares were forfeited. Sohan, the holder of 240 shares,
failed to pay the two calls and his share were forfeited after the second call. Of the shares forfeited,
320 shares were sold to Amar credited as fully paid for Rs. 90 per share, the whole of Ramesh’s
shares being included. Show Journal and Cash Book entries in the books of Swati Company Ltd.
el swd B2 8 3 ® 100 9 sooo §fHERE diW & a@ed R HI T B g Us 9 @y
frifia fem o & 0 9fsdigafma R frmoaar 299 - od 9 W& 30 3 7 &€ oA R
g Afed © 45, U 97 W T R w25, a«wr 9 v fgdfa g e fm oA 7w
M T UF 12000 F A B WIS G T/ 96000 3 W @ Y g7 U @ @ o WA UG S} fFa W
T Y A & A W S o fhar ) ame 9 oA § U e sifaRe o= wfy @0 ame 2w &
TR A g fhw o) W w W 160 @ v oand o fRY T 9, ame o ORI ¥ o¥H A T W
S a IR W g AW exy W el el ad 9Ee 3 W & U & RN WAl | W OEA, O 240
AT FURS O WA WA W IA @ TEE S A gmel W@ aa 9Es 3 ¥ f2
owinag gegwaxfod T W fF MW oW F ¥ s R gucAsdud
wid woeufRsiud Rued 93 W, e wwas o v afEfed 9 | @ e &
gwl A FEgd o @ ot ¥ ¥ Fe wd &) 9 (e i)
UNIT -I1

Q.No.2

State the various methods of redemption of debentures. By giving journal entries in respect of each
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Q.No. 3

Q.No. 4

of them explain these methods with suitable examples.

FUOE T & W ogE @ A ARE o qoge e d ufafew 39 g3 vl s RAY w9
TEENT BN W BT

OR

A company issued 90,000 equity shares of Rs 100 each. The issue was underwritten by X, Y and Z
equally. Applications were received from 80,000 shares out of which marked applications were as
follows:
X 30,000; Y 20.000: Z 15,000
Determine liability of X, Y and Z and pass journal entries in the books of the company assuming
2.5% rate of commission.
TE & A %100 91 90,000 SRES 3 ¥ fait fim fea ) et me vaw. @i @ @ @ g v A faa
far oy 27| soo00 A9 & T e ez e fomw w fafeo 9 ¢ 93 S U BR 9 - U
30,000; &€ 20000; W B 15,000 |
Udd, A€, W © @ alfded B 0l ditee del $8eE @) Y 25 ¥ fEe e g U &l @) g W
7 o A fAafewm difvw)

UNIT -111

What is the meaning of Managerial Remuneration? Discuss the provision of the Companies Act,

2013 regarding Managerial Remuneration of various managerial persons.
g gy uistie @ @ anwg & 7 A g d g afeadl @ ud gom olsfis € @ 4 g
FE SEfgA, 2013 & 9 raEpe aff @ SHifed |

OR

X Limited has declared 10% dividend on equity share capital of Rs. 20.00.000 (dividend into
equity shares of Rs. 100 each) for the year ending 31st March 2019 in its annual general meeting
held on 18th July 2019 and dispatched dividend warrants on 20th July 2019 by opening a separate
dividend bank account on that day. A person holding 500 equity shares did not present dividend
warrant to claim the amount of dividend on his shares.
What journal entries will be passed in the books of the company for declaration of dividend and
dispatch of dividend warrants and for transferring the amount of unclaimed dividend to unclaimed
dividend account? What further journal entry will be passed in the books of the company when the
unclaimed amount of dividend if not claimed by the above claimant within 7 years from the date of
transfer to unclaimed dividend account. Corporate dividend distribution tax may be taken at
20.56% (Gross)
vat faifdes dustt of 31 st 2019 @) 1ea Aot arel ad & fere wuw 20,00,000 &) sfaredt aiorgsit (sue
100 arer sigif 3 fenfSrer) w2 10% cmstier & diwon 18 Sené 2019 @1 arueit aiftios smerzul A1 A B den
20 gierf 2019 @t y 2 A v el dop Faan Hiam: 320 et cnetiorn 3w Afta @2 e | v wafts
{311 ure ueft I 500 sfaradd i o1 8 &l arual 3ioll u2 crsior bl Al & cusiier U U D2 FowTol
oig] Aol |
uett bt a1 Il d cmsiiol 1 Hluvi cstiel AUl & UWuT aen of ot ord custion A I of Aol T
TG ZAICT 3 FeMTOIaRVT @20l U2 a2 v of ufdfteen & 11| dusfl &1 gzao! 3 31 2w 3l g sield
ufdfte 2eft srafds srnfa emiier & IUYTD SITR SR SR cmgl Zad A &% X oI ferfér & weae bt
7 ad &t srafty gl A6t ao Al srufae cimsiner oidl e s &t ? foene sl fdr wx ot a2 20.56%
el ot of Aot 8 |

UNIT -1V

The Balance Sheet of a partnership firm was as follows:
TE w8 9 B4 &1 e of R g e @ -
Balance Sheet as at 315*March, 2020




Liabilities Rs. Assets Rs.
Capital Accounts: Rs. ’ Goodwill 20,000
A 100000 Plant | 1.40.000
B 60,000 Furniture 6.000
s 40,000 2.00.000 | Stock 90.000
Current Accounts: Sundry Debtors 56.000
A 16.000 Prepaid Expenses 2,000
B 14,000 Cash at a Bank 38.000
¢ 20.000 50.000
Sundry Creditors 1.02.000
3.52.000 T 3.52.000 |

It was proposed to form a company to acquire the business of this parmership firm. For that
purpose, the asses were revalued as follows : Plant Rs. 1,20,000:; Furniture Rs. 8.000: Stock Rs.
84.000; Sundry Debtors Rs. 50.000: and prepaid expenses nil. The profit of the firm (before
charging anything in respect of the partners) for the past five years had been as follows : Rs.
50.000; Rs. 58.000; Rs. 66.000; Rs. 70,000 and Rs. 66,000. Included in these profits were non-
recurring incomes averaging Rs. 3,000 but from the nature of the business, casual non-recurring
incomes were found to arise every year and promoters agreed that a figure of Rs. 2,400 should be
allowed as income from this source, Ignore income tax. Calculate the value of Goodwill
considering the following facts:

a Rate of depreciation may be taken on plant (@15% per annum and furniture @ 10% per
annuim.

e The normal rate of return on average capital employed may be taken 8 %

© Five years’ purchase of the adjusted super profit on annuity basis was the agreed price of
goodwill.

. The present value of one rupee paid annually (@ 8% for five years may be taken as Rs.
3,993.

TE WS T A B warey & wddd @ g US A @ WO BT 9 W v 0 gy el @ e
wofeEr @ g o $7 §H ¥ BR O T 0 w1 e ® 1.20000; FE R ¥ 8000 WIE ® 84,000;
YW AT 50000, M g edioEd g B P WA A F FM A EN & HdgH
FgW AW ggd HE § gd gH U HR Y FH 50000; W o58,000; H. 66,000; ¥ 70.000; 3 T H. 66,
oon| @l A aq adl ary el wad w 3000 WiAfem I g awmm Al u g A 2wd g3,
aafir aqadl smefRed sgm e Mowvdas = P fEgawlad & 2400 & amd
gfagd w= ) @0 AUHR & eF T8 wE £ | fyefafeg 2wl @ wmm 3 w@d g4 @I
&1 H U Fa ST -

@ Hd A0 e B e 15 9 U A & @0 e IR W OJ o ' 8 g 10 Y fava arft @
1 A2

off v fafar o g o w e o foea @) 2% | 9 Q@ =1 W
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|
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Q.No. §

Write short notes on (| fér feaforal f&fzn ) .

e  Fair Value of Shares (31 =1 &1 3fz@ 7 &)

e Intrinsic Value of Shares (3f @17 @1 s+ &d 4 o)

e  Valuation of Preference Shares (3ifimm & = &1 77 =@ &)
UNIT -V

A fire occurred on 19 February, 2020 in the premises of Priva Ltd. and business was partially
disorganized upto 30" June, 2020. From the books of accounts, the following information was
extracted-
1 BYEd, 2020 B @ fif2 € @ wWeA A o @ T U@ @R 30§ 4, 2020 b I e wuH
g oofad veT | & @ g w8 faefafed g e uoE @ g -

(i) Actual turnover from |5February, 2020 to 30™June, 2020

(Because of additional expenses) 1,50,000

“(ii)  Turover from 1%February, 2019 to 30™"June, 2019 4,20,000
(iii)  Turnover from 15February, 2019 to 31%January, 2020 9,00,000

(iv)  Net Profit for last financial year o ©1.40,000

(v) Insured standing charge_s -  1.12,000

(vi)  Total standing charges for last financial year 1,28,000

(vii) | Turnover for the last financial year o 8.40,000

The company incurred additional expenses amounting o Rs. 13,400 which reduced the
loss in turnover. There was also a saving during the indemnity period of Rs. 4,900 in the insured
standing charges. The company hold a “Loss of Profit Policy™ for Rs. 2,48.400 for an indemnity
period of 6 months.

There had been a considerable increase in trade since the date of the last annual accounts
and it had been agreed that an adjustment of 15% be made in respect of the upward trend in
turnover.

Compute the claim under the policy.

REI A s @ Va3 @ o0 T 3 13400 B fREm am A | afog f e &

g v @ifte Rer el 3 w4900 @ FEG N g E | IO S qmsmaﬁ‘r&ﬁﬁqﬁ aafy & fau &
248,400 1 @ B wIfy diferedt &

fama aff = @ aﬁﬁﬁmﬁ Damr i weyg o gy N ug e w s @
2 Ffasay wsufivmsEANug R fou gaar @ & wmd |

uifed & & af g g@ @ o Eifee)

OR
Write short notes on the following (fF=fafiaa o & fas femferal faflag)-
° Topwrar @ aur el (Hire Purchase Trading Account)
. v & o1 g @@ @ gwn @4 (Assignment of Hire Purchaser’s Right)
ferar s @ @ g Wl H FEg I gy aw & fow amd w9 (Provision for Unrealized
Profit in the Books of Hire Vendor)
. g 9" g9 717 @il (Goods Repossessed Account)



S.S. JAIN SUBODH GIRLS P.G;. COLLEGE, SANGANER, JAIPUR
B.Com. Part-IInternal Examination, 2022
(FACULTY OF COMMERCE)
ACCOUNTANCY AND BUSINESS STATISTICS
(BUSINESS STATISTICS (PAPER-II))

Time Allowed: Three lours Maximum Marks: 100

9 3 9 3T aHaid: 100

Attempt any five questions. All questions carry equal marks.

fr2! U 99l & SR <Ifoi] | 9T 9941 & 3ih 99 2 |

Q.No.1

Q.No.2

UNIT -1

What are the different types of diagrams which are used in statistics to show the salient
characteristics of groups and series? Illustrate your answer.

iR & sidafaani vd |ne SRl @) REwdsl & we & & fau sF-oF | sl
1 YA BIAT 87 TEERVT Aled JAT Sk W BT |

OR
Clearly distinguish between primary data and secondary data and explain the various methods of collection

primary data.
reIf3e den Eefleres Joer! 3 afae Zuse SIS e urefie o ol Jalsd ol di SRl &bl emen SIS |

UNIT -11
Simplify the following distribution and determine mean, mode and median and also give your

comments:
fraforfed angfay faRor &7 wReliGd &xa g Y, dgad 1 AT S R ST de
FATAFAT HIAY |

X | 10-20 | 20-30 | 30-40 | Upto 40 | 40-50 | Above 50 | 50-60 | 60-70 | 70-80 | 70-90

f 5 7 10 24 52 24 10 ? 5 7

OR
For=ferRaa #uig¥l fAdRul (Wage distribution) T HEIBT G dgcid (Median and Mode) HHI: 335

. TAT 340 . & AT 19 IMIRIAT (Three frequencies) T & [FT AT I S R Ahd B0

Wages (Rs.) | No. of Workers | Wages (Rs.) | No. of Workers

0-10 Bl 40-50 ?

10-20 16 50-60 6

20-30 2 60-70 4

30-40 Total 230 |
UNIT -1T1

Q.No. 3 Differentiate between dispersion and skewness. What are the various methods of dispersion?

Explain.
faaer vd 3afdsaur 31 g aere &7 3ufdsau & wleret! fafieer Sfera 87 swsnsd 1

OR



e

Q.No. 4

OR

Calculate the Karl Pearson’s Coefficient of skewness on the basis of following information, if the

mode and median value given as 54 and 53 .4.
ferfeRan GEaRl & MR R Hftadd & [ysar quie @1 aRToET ST,
afe agad® Ud WHIR TRT &1 AFHESE 54 9 534 fear AT &

| Marks 0-20 20-40 40-60 60-80 80-100 Total
No. of Students 10 9 30 2 14 94
UNIT -1V

Find out, if there is any relation between age and intelligence by using Karl Pearson’s coefficient

of correlation from the following data

=1 THe! § S & TEaEal 06 g 3y 9 g & WER B S Dl

Age: 20-25 | 20-30 | 20-35 | 20-40 | 20-45 | 20-50 | 20-55 | 20-60
No. of Persons: 100 240 440 800 1100 | 1340 | 1480 | 1600 Define
Intelligence of Persons: | 96 226 380 620 856 1048 | 1156 | 1236

regression. Why are there two regression lines? Under what conditions can there be only one

regression line?

ydoE @ afRarsT ST | udwEE @) Y@ |1 @i 21 87 9 gRRefl # dad e

B T T 8 "l 87
UNIT -V

Q.No. 5 Construct the Fisher’s ideal Index from the following data:

FrafeRaa gwel 9 fher & aneel fAdens @) =@=T SIw

Base Year Current Year
Price Per Unit ; Quantity
Articies (Rs.) Total Expenditure Total Value (kgs.)
e e (Rs.) (Rs.) o
) L i T s
(%) ()
A 6 300 560 56
B 2 200 240 120
C -4 240 360 60
D 10 300 288 24
E 8 320 432 36

Also prove that Fisher’s Ideal formula satisfies the Factor Reversal Test.

g o Rrg AT 5 freR &1 aredl fdenis o o Sepdr TOET B W BRaT B |

OR
Describe briefly any three methods of estimating missing figures in a series, giving the
circumstances in which each one of them is suitably used. Also give assumptions made therein.
IS BT B T B BT A QR BT wEY 9o AR gor 99 Refedl a1 Seera
a o o faf= Afal Sge © § ga @ O o a1 S aehhal Al B
AT o &R |



S.S.Jain Subodh Girls PG college sanganer, Jaipur

Internal exam-2022
Faculty of commerce

Business administration
B.Com part-1

Business Administration
First paper

Business Laws

Maximum marks 100 Time . 3hours

Attempt any five questions.each questions have equal marks.
5 99a1T & IR SIfeT U Ycddh W & 3 AT ¢

Unit-1
1. What do you mean by contract? Describe the valid essentials of a contract. 3—1?{?31‘?1
VT T AT ? TF a8 HAGH & HTGeFh ded IazT|
Or
Explain the difference between
(a) Agreement and contract
(b) Void contract and voidable contract

FA T FATST 20
(a) oeXTd 3R A |
(b) =T 3Ty R gy Sy gy
Unit-2
2. Discuss the circumstances under which a surety is discharged from his liabilities?
3 iy Ry fay It &1 avier IS v 5 F@wfe s3raeiaR oo @asa & Sran g2
Or
Define agency. how is it created and terminated? 20
Tt bt g srer ST U1 78 F T gHR UMY T 81T €311 susdh ganfea 6 @ yer gdr g7
Unit-3
3. what are the implied conditions according to the Indian sale of goods act?
R FETa F9 A o7 7 & 31 oR i A 178 T o & &7 10+10
Or
Explain the rights of an unpaid seller against the goods .
eed T svar i e i ufa 31fe FR1 & gasET]
Unit-4
4 What are the essential characteristics of partnership? Describe the difference between
company and partnership firm .
Frere; oI T HTTRTH FAETUT FT §2 TISIG <Y BH TUT FHeA! HIHd I Td3T] 20
Or
Enumerate the rights and duties of partners.
TTEIERT & HY FRT vddded IT HT Sead FHIfa U
Unit-5
5. Explain the main characteristics of the limited liability partnership act ,2008.
WfF T a1t o7 Frseg orfr 317 T a7 2008 6 7@y 7 fa o arsiir @#@zm3Ul 20
Or
What are the rights of consumers under the consumer protection act?

IUHTFAT T &7 AT &7 A & 37 7997 U 3TFar & 47 A FR &2




S.S. JAIN SUBODH GIRLS P.G. COLLEGE, SANGANER, JAIPUR
Internal Examination, 2022
B.Com Part-I
B.A.D.M.

3aaiﬁa| WF{'EI' cgqHTg Yded

(Entrepreneurship and Small Business Management)
Paper-11

Time Allowed: Three Hours Maximum Marks: 100

Attempt any five questions taking one from each unit. All questions carry equal
marks.

UNIT-I
Q1. 3EITHAT 4T &2 ICATHAT F1 36HAT U1 7¥eqqeqT & fAT Ageea F) v HIfA |
What is entrepreneurship? Explain the importance of entrepreneurship for entrepreneurs and the economy.
OR

o REmefia srdeaarar # 3q7H & Hecea F1 FUse HIfawl

Explain the importance of entrepreneurs in a developing economy.

UNIT-II
2. seafaan e @ 39 F=ar awe €2 seafiar e wdwEal A sfaw #1 e Ao |

What do you mean by Entrepreneurship Development? Discuss the role of Entrepreneurship Development
Programmes.

OR
IO & SR TTASTOT v e & Ford oI7 18 WRa Y v I-WXa ) |9TeeT & YT &1 qoia H1ford|

Describe the measures undertaken by the Government and Non-Government Organisations.

UNIT-II
3 A ITFHAT 1 ATURON HT TIvC HIford | ¥/ 3usA1 & 1Y va a9l &1 aoiq Hiferd |

Explain the concept of MSMEs. Described the advantages and disadvantages of such enterprises.

Or
oA 3UHAT FFee A & Fawags & B0 F=7 @R & 5 99T Groa] & 33e91/F1E1 H1
guter Hiford|

Describe the functions/objectives of the five main organisations of the Central Government.

UNIT-1V
4. fAra 2gar g & v, @t g Wt &1 qvla S

Describe the characteristics advantages and disadvantages of a limited partnership.

Or
A STHAT F FAEAH $Y FI5¢ A 09 357 gAEA3i & wgrnum ¢q gara S fferd)

Explain the problems of MSMEs and also give suggestions to solve those problems.

UNIT-V
5. oA 3UHAT Y faea vara F3= F Rredir deamat i ofaw ) vose 7o) O v searFTEiged
R fife

Explain the role of financial institutions in providing finance to MSME.
Or

10. fora 3EAT Fe) & forv 3207, 1 U4 Herod &1 Aearyas aofa Aol

Describe in detail the objectives, functions and organisation of District Industries Centers.
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Internal Examination, 2022
B.Com. Part-1
(FACULTY OF COMMERCE)
ECONOMIC ADMINISTRATION AND FINANCIAL MANAGEMENT-I
(Business Economics)

Time Allowed: Three Hours ; Maxmum Marks: 100

No supplementary answer book will be given to any candidate. Hence the candidates should write the answers
precisely in the mamn answer book only. All the parts of one question should be answered at one place n the
answer book. One complete question should not be answered at different places m the answer book. Attempt any
five questions takmg any one from each unit. All questions carry equal marks.

UNIT-I

— 1. Describe Business Economics. Explain its Characteristics.
AT rdemes Y gfvsmT e | s Rawant ) aoiq fifsw
Or
What do you understand by Law of Diminishing M arginal Utility. Describe its Importance.

AT 3T g1 ATH @ 319 91 7S €2 SUF Agcd F1 9uid FIfA T
UNIT-II

2. What do you understand by Indifferene curves? Explain the main characteristics of Indifference
approach.
FETHIA IH1 / AT FATHFAFA ¢ 7 GRAdT 3UTTH & J&7 Fewant i sarear S|
OR
What is Law of Demand? Describe its determinants.

A F1 ATH F41 82 39S AURST &1 g0 Fifaw|

UNIT-III

3. Whatis Demand Forecasting? Explain various methods of Demand Forcasting.
AT TATTHT FAT 57 AT @1 $1 e faftat & sarea fifew)
OR

Explain the Modern Version of Law of Diminishing Re turns.Which is Economically the best

stage of Production and Why? )
FHAT TIAwd & HIA & Ay TAw GTHT0T Y A& FY| AF 79 & 3cued H1AGH

mwaﬂam%aﬂ\r%ﬁ?



UNIT-IV

4. Give the definition of Wages .Explain the modemn theory of Wages.
Fergd &1 aftemar &S #Aag) & sryfas R #r sarea fifaw)
OR
Define Classical Theory of Rent.

AT & GIFIIETT G & IRaa w11

UNIT-V

5. Explain the relationship between National Income and Economic Welfare.
ST 317 AT 3T Feamor & T Jaw T arEqr Sl
OR
How is Price and Output determined under Monopoly.

THIUFR & T8d Aed AR 3cutea F4 fruiRa frar smar g
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(FACULTY OF COMMERCE)
ECONOMIC ADMINISTRATION AND FINANCIAL MANAGEMENT-II
Paper-I1
(INDIAN BANKING SYSTEM)

Time Allowed: Three Hours Maximum Marks: 100

Attempt any five questions taking one from each section. All questions carry equal marks. (20)

UNIT-1
108 efine bank and describe the in llons of a Modern Bank.
ga: }ﬂ% kai ST
OR
iscuss the vanous thods of Credit Control by RBI.
ynagm'; F %%ﬁr a'ﬁaﬂm a% Cayl
UNIT-II
2 Hlscuss V;{_’lﬁu% mnm ations_ mB glr_:: ecton
OR
Jiscusg General Relationship between bapker and his tomer.
QEFT 33'{ 3+ qEF & agm AT mﬂﬂmé“r faa=ar I
UNIT-III
3, lain the characte s of Ne onable Inst nts.
%ﬁ'@'%’é‘% & SgTEdT |
OR
at is 1]1 of ange" Htm d are the Bill accepted.
UNIT-IV

4. What is the congcept of Credit Rating? xplam its Oh e d Functmns i
AT &TAAT HedTohel i FTURT FAT u‘f.ﬂ‘fT e w|

OR

Di§cuss ﬁﬁ E..Ig[nce':nt of Ve aplt !
UNIT-V

5. What do you mean by Money Market ?Explain jts Strycture and Fungtion.
HAT ISR | 319 FAT A ?mmﬁtw&ﬁmﬁl

OR

P SR
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Time Allowed: Three Hours Maximum Marks: 100

AT 3 He

T 100

Attempt any five questions. All questions carry equal marks.

fr=el drg we & Sox I el ol & o wEE 2

UNIT -1

Q.No.1 fyarg & amuR ® e dF Afwl # faved f5d 1 21 39 SR & oRafte o=a g2 faden @ity & fow
YHR A SR & @R ald P FAIGd Sl &7
Assessee have been divided into three categories on the basis of residence. Explain how these
categories are defined and how they affect the tax liability of an assessee?

OR

sl 1991 ¥ TR @ UH 2aNCIEd B H WEE YeUd & U W SN 81 99d R Taad § Had
TS g &1 faver v yer g e mar &

()

(ii)
(iii)
(iv)
v)
(vi)
(vii)

(viii)
(ix)
(x)
(xi)
(xii)

Y€ 499 80,000 ®. = FEIRAT & ge=T UG gov—

Wi WY IS 6,000 B, VEIE wigwm Ay #§ srerer 9,000 ®. Ud Adq # 5 yfawid @ X A €t B
fesman |

HETTE e 1,000 . WioE (S W 200 %, wfoeme Saafy ewl &g oW 7 emar 21)

|7 w=d1 &g e Aan 150 . wiowre i = @ A

fash @ e 10,000 % |

TG Al 700 6. UiOHE |

Fratea B A & forldl 9w 30,000 B | AR W GGAS &I 22,000 G g

et g1 5,000 . oI HT HIST IS gU 4G AT

3 B B HeM W vEq & foeer sfaa fvmn 1500 ®. vfowiE ® @O A SR U diRR 79 U@
TIEar we R & e @7 400 ®. GioWE & A &A gR1 A o 2 |

HYH F BB 1.8 ol &9l B BR FRIGE 9 ol 5@ @ 3 < =@ 2| R @ Wl &1 JIaE
FA g e e g1

waiitra wfae A § frae & e 7000 ® 2| Afw A # 13 wfoea @ X A 16250 ® A B
A 58 T 2

S9a g 4 996 wiw ¥ fafeom @ 80000 %, TW BQ 15000 ®. AR & oAl g8 SEN B @I
25,000 %. &1 YTa &)

S ) FrRliee ¥ 1,20000 B BT KU TS I, 2019 P gUfeAT AEA HA I & ol wadl
P B AR v@er 4 wfoe aiffes =a v w forr rrer g 98 2030 # S8 gulan aed
Ha B o o T HU W RGN T §F ) AN B R 17.60 Widwd e 2

B v ad 202021 @ fordl S o= i &1 Mg @ TUFT U8 AMC g2 I 9 3w PR 9d @ ol
Iy el @ FR AT I 150,000 F F| TE N WA AR B 2001 B FHA B JFER AR TR B
STTHAT 26 o1 ¢ |

Mr. Chatterjee is Asstt. Manager of a Textile Company of Jaipur, since 1991. He has submitted
the following particulars of his income for the previous year.

U]
(ii)
(iii)
(iv)
v)
(vi)
(vii)
(viii)
(ix)
(x)

(xi)

Net Salary Rs. 80, 0000 after deduction of lax at source Rs 6,000, contribution to
Recognized Provident Fund Rs, 92,000 and rent of bungalow @ 5% of salary.

Dearness Allowance Rs. 1,000 per month (Rs. 200 p.m. enters into retirement benefits)
Education allowance for two children at Rs. 150 p.m. per child.

Commission on sales Rs. 10,000.

Entertainment allowance Rs. 700 per month.

Travelling Allowance for his official tours Rs. 30,000. Actual expenditure on tours
amounted to Rs. 22.000.

He was given cloth worth Rs. 5,000 by hisemployer free of cost.

He resides in the bungalow of the company. Its fair rent is Rs. 1,500 p.m. A watchman
and a cook have been provided by the company at the bungalow who are paid Rs. 400
per month each.

He has been provided with a motor car of 1.8 liter CC for his official as well as personal
use. The running and maintenance costs are borne by the company.

Employees contribution to R.P.F is Rs. 7000 and the interest credited to this fund at
30% rate amounted to rupees 16,250,

His employer paid for his medical treatment in France rupees 80,000, rupees 15,000 for
traveling in this connection and rupees 25,000 for stay there.



(xii) He took a loan of rupees 1,20,000 on 1st August 2019 from his employer at 4% per
annum interest to purchase two-wheeler by pledging his gold ornaments. The loan will
be repaid in 2030. SBI lending rate is 17.60% per annum.

Compute income from salaries for the assessment year 2020-21 assuming that his
taxable income from other sources for this assessment year is Rs. 1,50,000. Assume also
that the population of Jaipur city as per census of 2001 is 26 lacs.
UNIT -11
Q.No.2 What is meant by annual value of house property ? How is it determined under different
circumstances ?
o wHfa & aiffe Jou ¥ 71 arcad 82 guer e fafte Tmel § 39 e orar 87
OR
The Profit & Loss Account of a merchant for the year ended 31*March, 2021 is as follows.
Compute taxable income from business for the Assessment Year 2021-22:

31 HME, 2021 $ GEG 89 90 9 @ U e @l &1 am—eif @ e £ ev—fauor 9 2021—22 &
fore waam 9 e g9 P

Profit & Loss A/c for the year ended 3 ¥ March, 2021 |
Rs. | Rs.
Salary (including Proprietor’s Gross Profit 55,850
salary of Rs 8,400) 17,000 | Interest from Securities 1,490
Office expenses 1,600 | Bad debts recovered 1,200
Reserve for bad debts 2,000 | Sundry trade receipts 800
Fire Insurance Premium 1,000 | Rent from subletting 2,500
Bad debts 3,000 | Govt. grant repayable
Rent 2,400 in 20 years 8,000
Advertising expenses 1,200 | Income tax refund 2,000
Income tax 2,500
Banking Cash Transaction Tax 1,800
Loss on sale of building 3,600
Interest on bank loan 1,500
Interest on Capital 1,600
Depreciation 3,200
Goodwill written off 2,400
Travelling expenses 1,200
Loss of stock by fire 2,000
Contribution to U.R.P.F. 2,500
Charitable Donations 1,000
Net Profit 20,340
71,840 71,840

The written down value of building on 1.4.2020 was Rs. 20,000. Half of this building was sold for
Rs. 6,400 and loss of Rs. 3,600 was transferred to Profit & Loss Account. Depreciation of
remaining building of Rs. 10,000 @ 10% amounting to Rs. 1,000 is charged to profit and loss

account and it is including in the depreciation of Rs. 3,200 as shown in profit and loss account.
1.4.2020 B PREFET a7 S FUFARET Ted 20,000 F. o7 | I FRET W7 6,400 % § 99 &z 731 wd 3,600

. B efem—ai " ¥ serRd Y € T4 | 10,000 %, P Y FREF ¥99 W 10% @ ¥ ¥/ 1,000 H H
EeT—e @ # fore 1 3200 ® @ ww d afdfam 2
UNIT -111

Q.No. 3Anil acquired a residential house property on 11.12.1975 for Rs. 40,000. Market value of such
property as on 1.4.2001 was Rs. 80,000. He incurred following expenses on the improvement for

the house:
On 12.12.1979 Rs. 25,000
On 15.9.2004 Rs. 30,000
On 18.9.2014 Rs. 25,000

Anil entered into an agreement with Babulal to sale the above house at Rs. 20 Lac on 15th April,
2019 and took Rs. 1,00,000 as advance with an intention that the remaining payment will be
made by Babulal by 30th June 2019. Babulal could not make the payment upto specified date
and Anil forfeited the advanced money.

The above house property was sold by Anil on 08.08.2019 for Rs. 20 Lac. The expenses on
transfer wereRs. 15,000. On 7th February 2020 he purchased the bonds of National Highway
Authority of Rs. 3,00,000. He also purchased a residential house on 15 February 2020 forRs.
2,00,000. Compute the taxable capital gain.

Cost inflation index for financial year 2004-05 was113 while 2014-15 it was 240.



A F T FHeTeT 11.12.1975 Y 40,000 ® H FT AT T SHHT 3T TR FHod 01.042011 Tl 80,000 F.
AT | 3T 3T TSI & Ay U9 gfy W FAe=faiad =aa fFr—

On 12.12.1979
On 15.9.2004
On 18.9.2014

Rs. 25,000
Rs. 30,000
Rs. 25,000

Ffre & 15 3% 2019 # 3% HF N L 20,00,000 H d9at & I S F R
q 3§ AT ¥ [£1,00,000 3 g e fF aw R 30 S 2019 I gHER HUfed
9 HUSR H F o A FAT W A A T Fh F sfa A IJaH AR Sed
T ol

8 3 2019 & 3W 3Fd Hblal [120,00,000 # ¥w f2m| fasa ov © 15,000 = gU
Il 7 BEEd 2020 [0 3,00,000 F TSET THAATET TIAEHIOT & aven T fRU| Iegid
[12,00,000 & U 3T Heled o 15 Gadl 2020 &1 HA 61| Gollerd oy i iRy
& ot A

faeci @ 2004-05% fav aerg gfg Fgasiew 113 o sEfF 2014-15 & o amE gig
HHieh 240 T

OR

Explain the allowable deductions under the head ‘Income from Other Sources’.
‘I wRET § e’ Wds ¥ Wi sl &1 vl S
UNIT -1V

Q.No. 4 Murarilal, who is totally blind, submits the following information for the previous year 2019-20.

Compute his total income:

idiene, ST QUIA: Y §, T a9 2019-20 3 ford et FIT TR I & 3o @t A I
AUTAT HITAT:

(i) Salary received (per month) 13,000

(i) Rent received (per month) 4,000

(iii) Dividend from Co-operative Society 3,000

(iv) Interest from Bank of Baroda on saving bank account 12,000

(v) Interest on Government Securities 1,000

(vi) Winning from Lotteries 1,15,000

(vii)  Amount deposited in 5 yearly CTD Scheme of Post Office 10,000

(viii)  Deposit underPublic Provident Fund 35,000

(ix) Long-term Capital Gain (Building) 35,000

(x) Short term Capital Loss (Shares) 20,000

(xi) Donation to State Govt. for promoting Family Planning 18,000

(xii) Donation to PM National Relief Fund 40,000

(xiii) Interest on Fixed Deposit with Bank 40,000
OR

Explain total income and method of computation of tax in brief for an individual.
U afe & foy G o vd o S| & FufRer &t aget ufisar &1 "8y 3 aasmeu)
UNIT -V

Q.No. 5 Mahesh and Dinesh are equal partners in a firm. The profit and loss account of the firm for the

vear ending as on 31st March 2020 is as under:

e U9 3w Ush B H A ITEER &1 31 AT 2020 H AT g ald ay & fav
BH & AH-gily @rar @57 9o -

Particulars Rs. Particulars | Rs. ]
To Interest on Capital @ 12% By Business Profits | 2.40,000
Mahesh 18,000 | By Income from House

Dinesh 27,000 Property (Computed) 16,000
To Remuneration to Working By Profit on sale of listed




) @

@

Partners: Mahesh 60,000 Equity shares | 6,80,000
Dinesh 36,000 Rs. (7,00,000 — 20,000)
To Donation to Public
Charitable Trust 20,000
To Share of Profit: Mahesh 3,87,500
Dinesh 3,87,500 )
9,36,000 9,36,000

The other information are as under:

1. The remuneration and interest on capital are as per instrument of partnership.

2. Mahesh paid interest to the firm on drawings for the marriage expenses of his daughter
Rs. 20,000 which is not included in above Profit and Loss Account.

3. Dinesh paid an interest of Rs. 30,000 on money borrowed from a money lender to
contribute capital in the firm.

4. Shares sold on 15 December 2019 were purchased in July 1999 at a cost of Rs. 20,000
through recognized Stock Exchange. The fair market value of shares as on 01-04-2001
and 31-01-2018 were Rs 35,000 and Rs. 4,20,000 respectively.

Compute the total income and tax liability of the firm for the assessment year 2020-21 and the
amount which will be included in the income of partners.

T FEATE Frfafed ¥

TSRt # aftsfdE vd 9ol W s el Yo & IHFER € gl

me ¥ HEN T F faw & wdl § O oA § anewer B G oA # 120,000 F
=TS &1 T R, St 3uad o gifer @ & afFaAfed e €

e & BF F OGSl & IeEE e & AU EESHR @ ®OT foIT @ 38 030,000 F
ST AT foRa|

7 feFFaY 2019 & I AT Iy Js 1999 H TIU 20,000 AT G Fieh VTS
TFEAS ¥ HT U T A 2001 vd I 2018 F 37T & 3G SR @ 135,000 AR
[0 4,20,000 2|

FY AURoT a¥ 2020 21 & U WA A FA HF Td W clcd H IO AT TqT
agErt # 3 # wFAfad A o= areh wa fi ool e hfsel

OR

Write notes on following:

(i) Voluntary return of income

(ii) Belated return of income

(i) Revised return of income

(iv) Defective return of income

(v) Return off income on Internet.

(vi) E-return

(vii)  Return of income without advance tax.
(viii) Aadhar and income tax act

(i) foafeq 3ma & faaor
(i)  EMAT 3T F Fawor
Giv)  andr 3 &1 f@ager

(v) e W HT faareh

vi) % e

(viiy oo 30 = 3T fRaror
(viii) 3T TE 3T FOATE



S.S. JAIN SUBODH GIRLS P.G. COLLEGE, SANGANER, JAIPUR
B.Com. Part-1I Internal Examination, 2022
(FACULTY OF COMMERCE)
ACCOUNTANCY AND BUSINESS STATISTICS
(COST ACCOUNTING (PAPER-II))

Time Allowed: Three Hours Maximum Marks: 100

J9T: 3 ©c ffrHadH3TR: 100

Attempt any five questions. All questions carry equal marks.

el UM g & SR <Ifo /) 9941 @ 3fd 9HH ¢ |

Q.No.1

Q.No.2

UNIT -1

“Costing is a technique entirely separate from the procedure of financial accounting.” Comment on this
statement.
“omTa fERT e dedle 2 Wl ey dwied ufsar 9 Oof w9 9 =1 217 39 o W
far ywe SIS |

OR
A firm maintains its store ledger on the FIFO method. During the month of April, 2017 the following
receipts and issues of materials were made. Record these transactions separately in the Store Ledger on the

basis of following two methods:
(1) Wastage of Material is treated as factory overhead,
(2) Cost of goods units is inflated by the cost of wastage.

UF B U ATl Usel Ol Ugf OR AIUMl HUSMIR WiEe] Y& 2 WE oM , 2017 & QNI
I @ FMeferRea witear wa s s wan | SuerR waEs! # 39 GaER B T3t
o fF=fafea SF1 ameRl o) Bifor:

(1) 9 & &g & HREH SuRard A4 Wi,

) 9 & &9 | g8 B ¥ Iy 9y & g gel & Wi |

1 April 2017 Opening Balance 400 kg. @ Rs 10 per kg.

3 April 2017 Received 500 kg. @ Rs 6 per kg.

5 April 2017 Issued 500 kg.

7 April 2017 Received 400 kg. @ Rs 8 per kg.

15 April 2017 Wastages (as per stock verified report) 10 kg.

20April 2017 Received 500 kg. @ Rs 10 per kg.

25 April 2017 Issued 850 kg.

26 April 2017 Shortage 40 kg.

30 April 2017 Received 100 kg, @ Rs 12 per kg.
UNIT -lI

Explain Machine Hour Rate, Mention its merits and demerits. How far this method of overhead
absorption is suitable in a factory where labour cost is main part of cost?

a3 gueT e% FT THIRSU | SHd o a1 Eifeal aaisd | U S UHTH BREM H sraEn IuRed)
@ e & fore IuRemy eyl @1 I8 Y w8l 9@ Iugdd 27

OR

A worker takes 9 hours to complete a job on daily wages and 6 hours on a scheme of payment by
results. His wage rate is R. 1.50 an hour, the material cost of the product is Rs. 8 and the overhead
are recovered at 150% of total direct wages. Calculate the factory cost of the product under the
following Plans.

(a) Piece work plan: (b) Rowan plan; and

(c) Halsey plan
e HfE e A9l R B B R B A 9 €S ol ® 3R gRumEl B gRT yada

AT TR 6 TS oidl & [SHd! Ui 9veT 7oigdl ®. 1.50 B, I @1 |l aFd . 8 3R
YR Ygel el HoTg! B 150% & | I &) HREMT anrd 1= ARl & Siaia srd
BIFAT |

31. BRFER DS g A9 AoET W BRI Al
UNIT -1T1




(¢

Q.No. 3 The following particulars have been obtained from a factory:

Q.No. 4

Material issued 64.000
Wages paid 56.000
Factory overhead 60% of Wages

Out of the material issued, material worth Rs. 800 have been returned to the store and worth Rs.
400 transferred to other jobs.

10% of the production has been scrapped as bad and a further 20% has been brought up to the
specification by increasing the factory overhead to 80% of wages.

Scrapped production has been sold for Rs. 470.

Find out the factory cost per unit of the finished product by preparing a Statement of Cost. The
total production including quantity scrapped is 100 units.

fopfefad ReRy T eREM ¥ urd &3 ™ 8-

gl feffia 64,000
TG gaTe 56,000
HREM IR ToTgNl &1 60 Ufceid

S gl i 2 T R Se ¥ . 800 @ wrEll WR @ aftw a1 T8 R AR W
400 ) G 37 BTl Bl WFFART B & TS B
Jeqre ®1 10 YT WRIE 89 & SRV ¥ge B} fedl M1 § AR WS SfaRdn 20 Wi
aﬁﬁéﬂiﬁawﬁfﬁ%ﬁwmwﬁmﬂﬁmawm%aoﬁwm
T B
Yee fhd T SIEA B W/, 470 H 991 AT B |
JrE feRer U ER Sdifed axgell @) Ui SeE SREM dnd wh Bl | |G
JedTEH, XGE B TS AT BT AT BRA §I 100 TP © |

OR
What is meant by operating costing? In which industries is it used? Prepare a Transport Operating
Cost Sheet with imaginary figures and discuss the various items included in it.
e ard ¥ @ P §? I8 feA-fem wart # aueE SRl 87 s I
TREE AFTaTE BIA® Jdl aftd IR S qur gai aftafaa #l @1 |HsEd |

UNIT -1V
M/s M K Traders begin to trade on st April, 2016. The following was the expenditure on the
contract of Rs. 30,00,000.
Il o B 2 3 1 3 2016 B AWUR YH AT %, 30,00,000 B S W FfRad =

fopd -

Material issued to contract 5,10,000
Plant used for contract 1.50,000
Wages incurred 8.10,000
Other expenses incurred 50,000

Prepare a Contract Account from following additional information:
1. Cash received on account to 31%March, 2017 amounted to Rs. 12,80,000 being 80%
of the work certified.
2. Out of the plant and material charged to the contract, plant which cost Rs. 30,0000
and material which cost Rs. 25,000 were lost.
At the end of the year plant costing Rs. 20,000 returned to stores.
The cost of work done but uncertified was Rs. 10,000.
Material costing Rs. 23,000 were in hand on site.
Charge 15% depreciation on plant.
. Make reserve equal to half of profit received.
ferferRaa afaRaa gl & Sar1 @ a1z
(i) 31 W, 2017 9% SFH1 B W ¥, 12,80,000 YT A il F yAIOME B & 80
ygfererd &=dt 2 |
(i) o @ aret kA T GEH g @l § W E. 30,000 B ANE B HEH IR E.
25,000 Y AT B AFEN @l TE |
(i) 9¥ @ 3 A ®. 20000 B AR HI Wie LR & dier &gy 77|
(iv) yof afea s & @ aa . 10,0000 |
(v)  %. 23000 @ QNG @) ArEf) FETT o5 ar g 7 et |
(vi) I3 W 15 U ¥ gy |

N v W



f

Q.No. 5

(vii)

A product passes through three processes- A, B and C. the details of expenses incurred on the

TS o™ @1 3T 91T Hfeg HIfo |

OR

three processes during the year 2016-17 were as under:

Udh IS o9 ufbaii- g @ @ W 9§ orar 21 9y 2016-17 H S uftharei @y

ardl &1 faeRer fgER 8-

| Process A | Process B Process C
Unit Issued @ Rs. 50 Per unt 1,000 )
~ Rs. Rs.| Rs.
Sundry Material 1,000 1,500 500
Labour 2.600 8.000 6.392
Direct Expenses 600 1815 2,720
Selling price per unit of output 70 100 200

Actual output of the three processes was- Process A : 930 units; Process B : 540 units;
and Process C : 210 units. Two third output of Process A and one half output of Process B was
passed on to the next Process and the balance was sold. The entire output of Process C was sold.

The normal loss of the three processes, on the input of every process was: Process A :
5%; Process B 1 15% and Process C : 20%. The units of normal loss of Process A was sold at Rs.
I per unit, that of Process B at Rs. 3 per unit and that of Process C at Rs. 6 per unit.

Selling and distribution expenses during the year were Rs 9000. These were not
apportioned to the process accounts but considered while preparing the income statement.

You are required to prepare the three Process Accounts and a Statement of Income for the

year.
AT ufshansll &1 aIRdfdd SaTg-e-Ufhary 930 gH1edl, Ufhard) : 540 SHSAT T=IT
feharf) : 210 SHITT| UfFAC &7 <1 fEE den kA &1 smen Sares T ufkar @

gedraRd #) fean war v 9w 99 fear ) ufkarh & wrr wared 9w far )

i gfansd A P ) s sy @ sfiea-ufsar v e forv s uRiea, afsard
@& for 15 gfdera den ufbarlt & forw 20 gfder demr W a1 & & A ua @Al §
ufehdr T @1 ghisAl . 1 UfgeE, ufhadl A w3 9fa gere g uhar @ % e Uiy
SEE W 9l T | —

ay & fasy vd faaror 7 % 9000 A h¥E fFE A IR W Uk @ # ardfed
el {60 T U= AR R 9K whY 3= e - 4|

3y @y & forg dFF ufthanell @ @ gArgd den e faawer AR SR

UNIT -V
Define and explain standard costing. Describe briefly the variances relating to material and labour
COSts.
YHTG AN Sl BT aRAIfa SIfTe dem wuengd | Al vd S| o) 9§ dda R
&1 ¥erg 7 o oI |
OR
The following data are available relating to a company:

Unit selling prices Rs 10 per unit, variable manufacturing cost Rs. 5.50 per unit, variable
selling cost Rs. 1.50 per unit, fixed factory expenses Rs. 2,70,000 and fixed selling overhead Rs.
1,26,000.

(i) How may units are required to be sold to break even ? (ii) How much sales volume is
required to earn a profit of Rs. 30,000 ? (iii) How many units are to be sold to earn a profit of
20% on sales ? (iv) How much profit is earned at sales of Rs. 20,00,000 ? (v) What should be the
selling price per unit to attain break even point at 1,20,000 units ?

Uh &1 ¥ Had = 9He Suaer &

gl g1 fapa qou . 10, Ul gord uRedweia Fafh arma . 550, Ul sor
uRad-elier fasa arra w150, Rex sraEmT wuRer . 270,000 dor Rer RAwy SuRaa
. 1,26,000 |

(i) W-faeoe fa=g =g fhae Qe & "= smavas 82 (i) ©. 30,000 &1 o™ AR
&4 e fbal fasa amn wfRd? i) R = 20 vfdem o alia &9 &g o Rea
AT HGGS 87 (iv)®. 20,00,000 B AP W fRar oM BRM? (v) 120000 SHEAT W
ar-famy fdvg Suder &3 &g 9 31E fAma gou @ e =nfed?



S.S.Jain Subodh Girls PG College Sanganer Jaipur
Internal exam 2022

B.com part-2
Business Administration
Paper-First
Company Law and Secretarial practice
Time-3 hours Maximume marks-100 Answer the

following question attempt any five question each question carries equal marks.
ﬁ‘?m%rﬁzrama‘rm%ﬁma‘rwm g U| Ycdh 99 HHTA 3k HT1 6|
Unit-1
1."A company is an artificial person created by law having a separate entity with a perpetual succession and
a common seal" discuss the above statement and explain the characteristics of a company.
"HIAT TF &
Wf—;ﬁ-ﬁ 7 cafed ¢S a1 o AT o1 1t & gan 6 a1 ST §, 9% v 9y F g ca w@dr g 38

1A B Teauier HR Tod &, AUT SHRT U TEHG g7 elell &7 1S U= B ST HIS T AT FA 7 A
GINEGIEN

Or
Define a private company describe the privileges and exemptions of private company?
Unit-2
. Discuss the duties and liabilities of promoters?
Yaded & deed I U ed & gu] Uy Afy 391 HITS T 20
Or
Discuss the importance of object clause of memorandum of a company?
FHYAT & TTHIA JH & 3837 @We FI 3 d==1 HifF vl
Unit-3
3. Clearly explain the provisions relating to the registration and issue a prospectus.
wfa azor Y 957 < vaf TAT F9 U < FieAe Y IaUT S IS T F FHAFC 20
Or
How is the membership of a company acquired in what circumstances does it terminated ?
ToF Y FuaT T TeTTaT iF T waR ured H F1a) 6 7 g Ty i af 7o geegar =1 gaca &k ar s
HHAT 82

Unit-4
4. Describe the methods of appointment of directors in a company?
g oTeldhl & fof Fewoyd Heaieh! fa Y It &1 aoteet Hifar vy
Or
«rite the short notes of any two points
1. Agenda of meeting
2. Quorum of the meeting
3. Proxy
4. Minutes of meeting

o Fafer @ a & & ] <F7ATF =hiar 93wy A fe ooofl & @ vy
1. GHT Y 1A FL N A FREG off
2. T Y FATE cgEw T I1 A1 oTa A

3. gfay gy ;
4. g1 & FAEE o 10+10
Unit-5
5. Discuss fully the position of a company secretary?
Teh Ul AFTE g A 2y 3 6 9o oify d=en A5 ) 20
Or

Define dividend describe the secretariat procedure for payment of dividend ?

merier Y afy s Sy T (emerier 9] Ar= Y AR A fn =1 S aviEet ffS T
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Internal exam exam 2022
B.com part-2
Business Administration
Paper-2
Management

Max.marks.100 Time-3 hours

Answer the following questions: attempt any three questions, each question carries equal marks.

Y w3t T F weat F A 5 w2al & Fca? [ f@ U ,9AF W A 36 Fl el

Unit-1
1. What do you understand by management? discuss its importance in the modern world.
ﬂmmmam%mﬂﬁﬁmmﬁsﬂﬂ:w#ﬁmaﬁﬁrm 20
Or

Brisﬂy %%%u%ﬁi %grious scal}%lsq:% rgg_nggement tlhought.

Unit-2
2. What do you mean by organisation? discuss the main principles of organisation. FIT A AT T
T 7Y 2 TaT 3 & gHy & giat i earear fifS vl

Or

Describe the difference between formal and informal organisation and explain it.

gy & vg A= & o7 & &7 3d I AU 10+10
Unit-3

3. Explain the importance of coordination in management? What are the various types of coordination?

gyat HAA-aY & HAged 9180 | 58S Fila JuaR g dgar ffF v 20
Or

Explain the various barriers of communication and give suitable suggestions to remove them.

A OYOT Y FTTIHIRT TS PN T AT 378G Floleh (o T 3GTehd Al <1d IS T

= Unit-4

4. What do you understand about leadership and what are its characteristics? explain the importance of
leadership in modern business.

ﬁaaaga@mwmsa?}%,sﬂﬁ%aﬁmmmﬁm-:gaﬁmﬁ%m%m
Or

Explain the X and y MC Gregor theory? and also explain the difference between the X and y theory. 10+10
7% PR AT TE (%) (v)aTS & aRuRiEty & duar A T (qur 37 aXAr FH3rd T F Y Fase A v
Unit-5
5. Define control in management? and describe the control process in management. 20
eyl AT I3 o1 =7 §7 & I o7 T 9Teh IT & AHSET|
Or
Describe the various tools and techniques of control.

& 79 oT & T &Y == |rerat vadshaAlan! &1 guterol i vl
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ECONOMICS ADMINISTRATION AND FINANCIAL MANAGEMENT
[Economic Environment in Rajasthan]
Time Allowed : Three Hours Maximum Marks : 100

Attempt all five questions in all selecting one question from each unit.
UG 3H1E § ¥ TS T HRG §¢ G ura U B B B
No supplementary answer book will be given 1o any candidate. Hence the candidate should write the answer precisely in the

main answer book only.
fors N el 31 We wov gRae wE & TR | aderRRi @ a5 & gem s gRae 3 @ wRa v @ S o
All the parts of one question shouid be answered at one place in the answer book. One complete question should not be

answered at different place in the answer book.
farelt ot v we @ arweta U T R e @ IR 9R gRA®! A e e W W B 3% @ JOd TS € W W EF

Write your rollnumber on question paper before start writing answer of question.
gel & SO foRgd 9 g e O W Ad TR 3@l ford |
UNIT-I/zaE-1
14  Describe the basic features of Indian economy.
R Fefarawen @ smaa fAgman s | 20
OR / 3par

Write short notes on the following:
frfafes ox fewdh fafRe

(1) Dairy Development in Rajasthan

T § ST Re 10
(i) Mineral Resources in Rajasthan
RGEOIE R RCIS N R R R | 10

UNIT-11/g@rE—11
2 Discuss New Rural Development Programmes in Rajasthan.
oY # T e & TEE SrdmEl @ e Hifvd | 20
OR / 3perar
What are the Main Causes of Unemployment in Rajasthan. Give suggestion for removal of unemployment.

IR H WO B GHE BRY BT | E 2 A9 SHeE o gHa <o | 10+10



,@

UNIT-H1/ga=-111
3 Write an Essay on the New Agriculture Strategy in Rajasthan.
IR H Gft A T g =@ W o (ke 20
OR / s

Write short notes on the following:

fr=ferflag ow feudft fafea

(i) Agriculture Finance
Hft = 10
(ii) Agriculture Insurance
By g 10
UNIT-IV/zaE-1V
4. ‘Infrastructure development is necessary for Overall Deployment of Rajasthan. * Explain.
o @ walfior e & foy smwe ke e s 2 | wEsEd | 20

OR / arya@

Discuss the Main Problems of Tourism Industry in Rajasthan and give Suggestion to solve it.

IR # ges SEr & wE weenl 9argd ool 599 o @ gend <o | 10+10
UNIT-V/ga1g-V
S Discuss the steps taken by the Govt. for tha development of small scale and Cottage Industries in Rajasthan.
IoRaE § @y v e 9 @ e & i wer gr1 9o T faft= wedl @1 g @iford | 20
OR / pgan

Explain the following:
Pr=fafaa &) gasnzd:

(i) Main sources of Rural Finance in Rajasthan
IR & g T @ g S | 10
(i) Importance of Rural Finance.

T Oy @1 Hewd | 10




S.S. JAIN SUBODH GIRLS PG COLLEGE .SANGANER,JAIPUR
Internal Examination, 2022
B.Com. (Part-II)
ECONOMICS ADMINISTRATION AND FINANCIAL MANAGEMENT-II
[Elements of Financial Managment]|
Time Allowed : Three Hours Maximum Marks : 100

Attempt all five questions in all selecting one question from each unit.
S gHTE B W TP U aX0 g0 Gl Urd ¥ & S B

UNIT-I/zarE—1
£ Define Financial Management. Discuss the nature and scope of financial management. 4+8+8
faftra weer & oRwer ARt Ry e & ugfa 9o a3 21 ame S
OR / 3rema
What do you understand by financial analysis? Give the names of various techniques of financial analysis and explain
any one technique in detail. 4+4+12

fafey Rzemo § sy w1 gazR 27 Yy ffweny & A= geder @ 9 JfsR siv 5 e a0 @ fGwar 3 993l |
UNIT-1l/z&E-11

2 Following is the balance sheet of Jay [.TD. as on 31 March 2017 4+8+8
31 /79 2017 BT Wy fafies & Refy o 1 gor 2

Balance Sheet as on 31 March 2017

Particular Current Year
2016-17

EQUITYAND LIABIITIES
(1) Shareholders Fund
(a) Paid up share capital 40,000
(b) Reserve and surplus
(1) General Reserves 6.000
(i1) Surplus for the year 14,000
(2)Non-current Liabilities

10% Loan on Mortgage 20,000
(3) Current Liabilities
(1) Trade Payables 14,000
(i1) Bank overdraft 2,000
(iii) other current liabilities
(a) Proposed Dividend 2.000
(b) Current Taxation 2,000

Total 1,00,000

Assets
(1) Fixed Assets 48,000
(1) Tangible 12,000
(i1) Intangible (Goodwill at cost)
(2) Current Assets
(1) Short term Investment 2.000
(i1) Inventories (Stock) 16.000




(iii) Trade Receivables | 16.000
(iv) Cash & equivalents 6.000
Total 1.00.000

Sales amounted to | 1,20,000
faere wfe [ 1,20,000
Calculation following Ration

o1 SuTEr @1 T S

(1) Current Ratio Te] T

(11) Quick Ratio @Ra Fqara

(ii1) Net Profit Ratio g M AT

(iv) Return on Total Assets A FHEfd 9® wer

(v) Debt Equity Ratio R EHHA A 4+4+4+4+4
OR / seqar

What is Cash flow statement? Give its advantages and limitation. 4+8+8

YIee vare fgawer s wed &7 399 o™ Td dEl adgy |
UNIT-1T/gaE-111

3. X Y Z company sold in two successive year 7,000 and 9,000 units and incurred a loss of 110,000 and earned
710,000 as profit respectively selling price per unit is 7 100.
oy a3 o Bl 3 21 IaReR a8t § 7,000 @ 9,000 SHEAl & fAma e & gun wwe [ 10000 B EH @A [ 10,000 BT A
wffa fean 21 wfd s e & |1 100 B
Calculate- (a) The amount of fixed cost, (b) The number of units to break —even, and (c) The number of units to earn a
profit of [750.000. 6+8+6
IO ETe— (@) Yo FTdl B A (@) wE-fawde gersal @ (%) (150,000 @ an sffa B & o srawge e |

OR / eran
Define Financial plan and explain the characteristics of sound financial plan. 8+12
fafera o @ ol S o ve S Rfty a9 & @eror 9agt |

UNIT-IV/zaE-IV

4. You are supplied with the following information in respect of Shyam LTD. for the year 2017
ST v fefies @ af 2017 @ fog FrafoRaa gaamt Suere 2|
Production for the year 69,000 units
Finished goods in stores 3 months
Raw Materials in stores 2 months consumption
Production Process | Month
Credit allowed by creditors 2 month
Credit given to debtors 3 month
Selling price per unit 70.50
Raw Material 50% of selling Price
Direct Wages 10% of Selling Price

Overheads 20% of Selling Price



There is regular production and sales cycle and wages overheads accrue evenly. Wages are paid in the next month of
accrual. Material is introduced in the beginning of production cycle. You are required to give out: Its working capital
requirements. 20

g+ g fama @ 9% fAeeR W 9 e &) te wuigy a1 guRerm FReR i g1 € Aeigll @ A Us "R geEr
g o & |l @ 9w 9% @ URe ¥ 8 e fear sar € anu el @) savge srEEe qull @) IOET iRy |

OR / aswrar

Explain the meaning of cash management. Discuss advantages and limitations of cash managment. 4+8+8
A5 ved F7 3f We DI | Ve Yew & aM vd GERl 31 o @ |

UNIT-V/zaE-V

(a) What do you mean by “Economic Order Quantity™ ?
(b) The Annual demand for an item is 3.200 units. The unit cost is — 6 and inventory carrying cost is 25% per annum.
If the cost of one order is Rs. 150, determine
(i) EOQ, and (ii) Number of order per year. 5+5
(31) foced sew 7T 9 MU @41 EHHA B
(@ fad 7 o aififs =17 3.200 SIS &, S U SHIE AN | 6 N SHAw XE-XEE A ar 25% affe 21 2l amew
3 P o ufar MY 150 wUA & o FeifRa afsre (i) fa—ad snee A aen (i) o ad sreen @ |

OR / s
.A company is required to choose between two machines X and Y. The two machines are designed differently but have
identical capacity and do exactly the same job. Machine X Costs | 6,00,000 and will last for three years. It costs
7 1,20.000 per year to run. Machine Y is an Economy model costing " 4.00,000 but will last for two years, and cost
™ 1,80,000 per year to run. These are real cash flows. The coast are forecasted in rupees of constant purchasing power.
Opportunity cost of capital is 10% which machine company should buy ? Ignore tax.
PV factor at 10% for three years are 0.9091, 0.8264 and 0.7413. 20
e HEf @ |1 g X aY 3 A B e @ w21 3 o 99 e # B £ R e 9HaT & @ @il el B
FoiE X @ @rm | 6,00,000 3 Shew s 3 9 2) oReres ara - 1,20,000 wfed @) wm Y Sife ve fewedl disa @
et @ T 4,00,000 @ saifa oflas @i 2 af & den aRerer @ ofead 1,80,000 €1 3 arafls e waw § | @
&1 Qg wud @ R sawfe ® smaRa 21 4ot &) sk aa 10% 81 o @1 fea 79| @1 #a s wfte ] a8 ®
e T8 A B
@ ad & PV daex 7= uer & 0.9091, 0.8264 and 0.7413



S.S. Jain Subodh Girls P.G. College, Sanganer, Jaipur
Internal Examination, 2022
B.Com. Part-III
(Faculty Of Commerce)
Accountancy And Business Statistics
(Auditing And Management Accounting (Paper-I)

Time Allowed: Three Hours Maximum Marks: 100

Attempt any five questions taking one from each section. All questions carry equal marks.

- Vi 1%

fe=81 dfeg uel & IoR e | i el & ofd Jae 2|
UNIT-1
Q.1  What are the objects of Internal Check ? Does Internal Check render frauds impossible? [xplain
am<afles ARerv & w1 Igewa 87 3 =aRe ARerur 16 & 1E=a IR <al 2? \Assd |
OR
What is an audit programme? How should it be constructed? Give essentials of a good audit programme.
ITHETT BIUHH T € 2 D] AT 60 UaR & A=) F1fey ? TS 3750 IiheruT $1dshd & aged ad ol |
< UNIT-II
Q.2  What qualifications are necessary for a company auditor in India ? What are the provisions at the
Companies Act, 2013 regarding removal and remuneration of auditors ?
qRA H HUA v @ fog @ IR amaws 27 U B eds Bl BeRl W aUl 9He UiRsffie ¥ Haftd
v affam, 2013 & wrauTE! &1 avfe S|
OR
Write short notes on the points to be observed in the verification of the following assets of a limited
company.
(a) Freehold properties (b) Motor Vehicles
(c) Plant and Machinery (d) Trader Debtors
(e) Stock
ve difta s ) Ffafied sl @ vams & ddy # e wEs arg 9l W diea faftry faRey:
(1) Taara w=afeat (¥) #rex mfsar
(9) @< 8k 79 () @miRe S8R e
(%) wefaa
UNIT-III
Q.3  State the Rights and Duties of the auditor of a company according to Companies Act, 2013

HH U= 2013 @ 3faid TP U B Ioge P IRBN HN hdd @ guie B |

OR
What do you mean by “Qualified Report’? Give specimen of a qualified report of a limited company having

a branch which have four qualifications.
Fyifea RuE 31 ey w7 wsd € ? U o ardll Wi sel @) waifea Rae @ e S e AR waiker 8



S

Q.4

Q5

@)

UNIT-1V
Explain the Nature and Functions of ‘Management Accounting’.

‘gdy i & s 9ot s @l IHENE |
OR

The ABC Limited’s balance sheet is as follows:
v @ M fafes & facer = uar 2

Balance Sheet
Liabilities Rs Assets Rs |

Equity Capital 1.20,000 | Net Fixed Assets 3.00,000
(Rs. 10 per share) Current Assets 1.00.000
10% Long-term debts 1.60,000
Retained Earnings 40.000
Current Liabilities 80,000

B ~4,00,000 4,00,000

The Company’s total assets turnover ratio is 3.0, its fixed operating costs are Rs. 2.00,000 and its variable

operating costs ratio is 40%. The income tax rate 1s 30%.

Calculate for the company, all the three types of leverages.

S B Gl TR AT U 30 B | gHS W aRETem @FE ®. 2,00,000 & 77wl GRaAAE ARG U

40 "frerd 2 |3mgey & I¥ 30 "fawd 2|
HH @ forw G UBR B Idrad! DI ITUHET DI |
UNIT-V

From the following particulars, you are required to prepare the Balance Sheet of Zinc Company Limited:

o1 gl | e o fafics &1 e ar S|

Fixed Assets (after writing off 30% depreciation)

Net Fixed Assets Turnover Ratio (On Cost of Sales)
Finished Goods Turnover Ratio (On Cost of Sales)
Gross Profit Rate on Sales

Net Profit (Before Interest) to Sales

Fixed Charges Cover (Rate of Debenture Interest 7%)
Debit Collection Period

Materials Consumed to Sales

Stock of Raw Materials (in terms of months
consumption)

Current Ratio

Quick Ratio

Reserves to Share Capital Ratio

OR

Give specimen of a cash flow statement and explain the items therein.

e we faawer @ T R @ik IeTeRer wid gwe) #al @ W By |

Rs.
10,50.000
2

6

25%

8%

8

1.5 months
30%

3

2.4
1.0
0.21




S.S. Jain Subodh Girls P.G. College, Sanganer, Jaipur
Internal Examination, 2022
B.Com. Part-111
(Faculty Of Commerce)
Accountancy And Business Statistics
(Advanced Accounting (Paper-1I)

Time Allowed: Three Hours Maximum Marks: 100

Attempt any five questions taking one from each section All questions carry equal marks.

= dfg uHl & SR $fom | Tf g @ 3w B

Q.1

Q.2

UNIT-1

Megha Ltd. Has three Departments A, B and C. From the following particulars, prepare Departmental Trading

Account of the Company :

gy fafiee @ A, B9 C &= faum 2 R=fefen Revof @ o= &1 fourfa amar @ a95d:

Deptt. A | Deptt. B | Deptt. C

Rs. | Rs Rs.
Opening Stock 24,000 | 36,000 12,000
Purchases a 1,46,000 | 1.24,000 48,000
Actual Sales 1,72,500 | 1,59,400 74,600
Gross Profit on Normal Selling Prices 20% | 25% | 331/3%

During the year certain items were sold at discount and these discounts were reflected in the values of sales shown

above. The items sold at discount were:

af 3 $% Hel &1 9ee W fAwa fhar w1 o S Swie fassy qoul # wffa aunl age W Rma @ TS A 39 UER ©

Deptt. A | Deptt. B | Deptt. C
Sales at normal price (Rs.) 10,000 | 3,000 1,000
Sales at actual price (Rs.) 7,500 | 2,400 600
OR

Explain the main accounts to be prepared in Stock and Debtors Method.
Wie U9 eTeR Uf A el 9 dTel U@ @Tdl &GSy |

UNIT-11
Anil holds a lease of coal mines for 10 years, commencing from 1*Jan., 2014. According to the lease, he is to pay

75 paise per ton as royalty with a minimum rent of Rs 15,000 per year. Short-workings ca, however, be recovered
out of the royalty in excess of the next two years only. In the year of a strike, the minimum rent is to be reduced to

60%. The output for the six years has been as follows:
A @ U 1 HEd, 2014 | YRS B9 91 10 961 @ fIU s @ @El o1 ugeT 2 et @ IWR SW 75 99 ufa eF few
e 15,000 TS gaw RN & @@ &1 €| oger] MR &1 dad aFTd 91 ¥ @ IRER Yoo B rad R W e | o

s o wdar 2 | gsara @ a¥ § <A fevwr 60% 9@ el 3w GRAn | 6 Nt &7 SEEd 36 USR A

aq 2014 2015 2016 2017 2018 2019
IGrEAcHIH 10,000 12,000 28,000 25,000 50,000 15,000 BT |
TE HG BY 16 GEad Wiaay 31 [GWER @ 4€ @ Wil 8, i 9El @) gedd) 3 Jaedd @ | |
OR

Write short-notes on the following:
(a) Cum and Ex-interest transactions (b) Treatment of Rights and Bonus Issue

(¢) Pre-acquisition Dividend (d) Valuation of investments on Balance Sheet date.



Q3

fr=ferfaa w feaftr faflaw

() =rw wfed @ =w e @I9Er (@) IffeR a 959 fFfEa @1 aeEr
(%) wa fafr gd @& e () face & fam PR &1 Yo
UNIT-III

S Limited Company, which has a paid up share capital of Rs 2,50,000and a loss of Rs, 3,00,000 standing in its
Balance Sheet, went into voluntary liquidation on 31 March, 2019. The following are the particulars of its assets
and liabilities as on date:
Machinery, Stock and Debtors (which realized their book values) Rs. 1,97,500; Cash Rs. 2,500; Creditors Rs,
1,00,000; 6% debentures having a floating charges Rs, 1,25,000 and interest accrued thereon for 6 moths.
The debentures were paid off with interest on 30"September, 2019 on which date a first and final dividend was
also paid to creditors. Creditors for Rs. 12,500 were preferential and rese unsecured. The cost of liquidation
amounted to Rs 1,250. The liquidator is entitled to 3% of amount realisd from sale of assets and 2% of the
amount distributed to the unsecured creditors (excluding preferential creditors) by way of his own remuneration.
Prepare the Liquidator’s Final Statement of Account.
oy fafite svo Red) ved siugol vd e 3@e ¥ed ¥ He ®. 250,000 Ud . 3,00000 B 3 1 A 2019 @ UBH WA H
o 7| 39 A B g vt @ it @ Freafafea e 2
30 iR, 2019 B TV U3 B AS Wied T R A1 R S A S oHeR] @1 A guw Te sifam amte @ R dFent |
. 12,500 Q@RI & vd 99 SRR 9| WU A @rTd ®. 1,250 AME e wwfodl @ @A @ age @ T AR W 3% e
SRR ATENT (EReR JFERl &1 Bied g @ faaRa o T Al W 2% nRafie @ afert @) Frare @ sifte o faawe
dUR FIfg |

OR
The following balance was extracted from the books of Northern Railway Company after completion of the
Revenue Account for the year ended 31%March, 2019. You are required to prepare the Statement of Receipts and

FExpenditure on Capital Accounts and the General Balance Sheet-
frfaRad 99 31 7, 2010 B HAfe Yo SN B ST A WY WAl WR FH D T ol TR R et goirra wifkid! @ el
o1 fJawor qen W fage TR &R € -

Dr. Cr.

Rs. Rs.
Equity Shares 50,00,000
6% Preference Shares 30,00,000 _
7 % % Debentures 20,00,000 e
Lines open for traffic 85,20,000
Lines in the course of construction _ 50,000
Lines Leased 2,00,000
Working Stock (Engines, Carriages etc.) 13,00,000
Lines jointly owned 5,00,000
Freehold Land 1,25,000
Premium on Shares 2,75,000
Cash at Bank 50,000
General Stores and Stock 1,25,000
Net Revenue a/e 1,60,000
Traffic Accounts due to the Company 1,00,000
Due from other Companies 25,000
Sundry outstanding accounts : 35,000
Due to other Companies 20,000
Fire Insurance Fund . 1,50,000
Sundry Creditors B 25,000




Q4

General Reserve

3,25,000

Superannuation Fund

75,000

1,10,30,000

1,10,30,000

During the year there was an issue of 6% Preference Shares of Rs. 7,50,000 at par and this was fully subscribed.

Equity Shares of Rs. 10,00,000 were also issued at a premium of 10%.

Expenditure on lines open for traffic Rs,

2,00,000 and lines in the course of construction Rs 15,000 were made. Construction to lines jointly owned

amounted to Rs. 1,00,000.

o 3 IRE B 7,50,000 B 6% G@iRER E &1 Frfag fear T e oof sfyem g3m) € 10.00,000 & wEET FERfl 10 difEE W@
frffia s A | g @ fog Eeft e+t 'R %, 2,00.000 T FHfoERE @EAl R . 15000 2 fBA A | AYE @i B @A

3 fAmfor .= %. 1,00,000 @@ &2 T

UNIT-IV
The Balance Sheet of X Ltd. As at 31° March, 2019 was as follows:

31 T, 2019 & g fofiee @1 fueer 39 uer on

Particulars - Amount |
I. EQUITY AND LIABILITIES = _i
(1) Shareholders’ Fund:
(a) Share Capital:
Issued & Subscribed and Fully Paid up Capital:
64,000 6% Preference Shares of Rs 10 each fully paid 6,40,000
1,92,000 Equity Shares of Rs 5 each fully paid 9,60,000
(b) Reserve and Surplus:
General Reserve 3,200
Statement oof Profit and Loss (2,88,000)
(2) Non-Current Liabilities:
! (a) Long Term Borrowings:
(i) Secured Loan:
5% Debentures 3,84,000
(3) Current Liabilities:
(a) Trade Pavables:
Sundry Creditors 6,40,000 |
Is Total 23,39,200
II. ASSETS
(1) Non-Current Assets:
(a) Fixed Assets:
(i) Tangible Assets:
Land and Buildings 7,68,000
Plant and Machinery 7,20,000
(i) Intangible Assets:
Goodwill 4,48,000
' (2) Current Assets:
(a) Inventories: Stock-in-Trade 1,28,000
(b) Trade Receivables:
Bills Receivable 64,000
Sundry Debtors 1,92,000
(¢) Cash and Cash Equivalents:
Cash in-Hand 19,200
Total 23,39.200

Upon revaluation of the assets, it was found that goodwill was worthless and that other assets were overvalued to

the following extent-

Land and Buildings by Rs 1,28,000 and Plant & Machinery by Rs. 1,76,000.

A provision for doubtful debts to the extent of Rs. 16,000 was necessary.

The following scheme of reorganization was sanctioned by Tribunal on April 1, 2019:



o @

(a) The creditors to accept 6% debentures to the extent of 50% of their claims, the balance to be paid in cash six
months after the date.
(b) The preference shares to be reduced to Rs 5 each, partly paid up.
(¢) The equity shares to be reduced to Rs 1 each, partly paid up.
(d) The assets to be reduced to revalued figures and the negative balance of Statement of Profit & Loss to be
wiped out.
Draft journal entries to give effect to the above scheme and prepare the revised Balance Sheet of the company.
Wﬁwmwm%w%mmﬁw@%aﬁqmmmwm@maﬁg%-
Affy & T . 128,000 ¥, W T TR F. 176,000 F | W™ FOl B fow & 16,000 1 AT TS FHSAT T € |
1 ald, 2019ﬁgﬂﬁﬁwaﬁm_ﬁfﬁqaammaﬁn§,aaﬁﬂm%—
(ar)@Fmﬁ‘v‘la.m%ar@fa%50%%%5%%%@@?%&1mvﬁwsﬂ%ﬁa‘:s%uﬂmwﬁgﬂﬁmﬁm
ST |
(@) yR® YEifteR Y B 5 96 HH I 8, FU: Ued |
(w)ua)'qséﬁa-@rsméﬁﬁ 1 O HH ST B, A Ued |
ﬁ)mﬁﬁﬁ@é@maﬁ#aﬁmm%waﬂmﬁémﬁmmﬁmmﬁl
Saa Do B P <99 B fog oida ufafeal Afig aen e @1 Wi figer Ee |
OR -~
Narrate the objects of amalgamation of companies. Also discuss the requirements of Accounting Standard-14
relating to amalgamation of companies.
mﬁﬁ$qﬁm$eﬁaﬁamﬁﬁﬁmwﬁ$wmmw—maﬁmaﬁﬁﬁﬁﬂaﬁﬁm

UNIT-V
Q.5 M Limited acquired 12,000 equity shares of D Limited of the face value of Rs 10 each at a price of Rs 1,70,000 on

1%'October, 2018. The Balance Sheet of two companies as at 31" March, 2019 were as follows:
M fafee 3 D fafits 3 10 . ofdaged aiet 12,000 SRTA 3 170,000 ®. P G T 1 IAGER, 2018 F WG | 31 w4, 2019 &1
I sl @ faee Frafafea &

Particulars M LTd D Ltd
Rs Rs

I. EQUITY AND LIABILITIES
(1) Shareholders’ Fund:
(¢) Share Capital:
Issued & Subscribed and Fully Paid up Capital:

Equity Shares of Rs 10 each fully paid 10,00,000 2,00,000 3=
(a) Reserve and Surplus:

General Reserve (1-4-2018) 4,20,000 1,00,000

Surplus in Statement of Profit & Loss (1-4-2018) 90,000 40,000

Net Profit for the year 2018-19 1,70,000 45,000

(2) Non-Current Liabilities:
(a) Trade Payables:
Sundry Creditors 2,40,000 92,000
Bills Payable 80,000 60,000
Total | 20,00,000 5,37,000 |

II. ASSETS
(1) Non-Current Assets:
(a) Fixed Assets:
(i) Tangible Assets:
Land and Buildings 4,00,000 1,00,000
Plant and Machinery 5,00,000 1,00,000
(ii) Intangible Assets:
Goodwill 3,00,000 70,000




(iii)Non Current Investments: \

Investment 2,00,000
(2) Current Assets:
(a) Inventories: Stock-in-Trade 2,00.,000 40,500
(b) Trade Receivables:
Sundry Debtors 3,00,000 1.34,500
Bills Receivable 20,000 30,000
(¢) Cash and Cash Equivalents:
Cash at Bank 60,000 50,000
Cash in-Hand 20,000 12,000
Total | 20.00,000 5,37.,000

Out of the debtors and bills receivable of M Limited Rs 50,000 and Rs 16,000 respectively represented those due
from D Limited. The stock in the hands of D Limited includes goods purchased from M Limited as at Rs 20,000
which includes profit charged by the later company at 25% om cost.

Prepare a consolidated Balance Sheet as at 31" March, 2019. Show you workings in detail.

M fafies @ el ok v Rel § & 9 50,000 &, AR 16,000 + awe 4 D fiffite gxr 2@ 2D fafite @ < & M
ﬁ“{ﬁé@ﬁ@ﬁmgmzo,uooaaﬂmasnﬁaa%mﬁmmmmmwzsaﬁaﬁmmwmmh

31 A4, 201gﬁww@ﬁwﬁmm|mmmﬁrwmﬁﬁ@@|

OR
Write short-notes on the following:

(a) Minority Interest (b) Cancellation of Inter-company transactions
(¢) Treatment of Unrealised Profit

Frefafen w witra fewfr faReg:

(3) sreawiEms) @ fea (7) 3 B AGERI B GE FAT|

(W) ¥ 99 gL dM © AR IR



S.S .Jain Subodh Girls PG College Sanganer Jaipur
Internal exam 2022
B.com part-3
Business Administration
Paper-First
Functional Management
Time-3 hours Max.marks-100

Answer the following questions attempt any five question each question carries equal marks.
& 7t T T oAt F & 5 w2l & 3cak oy [ v) wede W &7 e GAA £ |
Unit-1
1. What is human resource management,?discuss the role of human resource management in a business
institution. 20
AT TF T TaTel F4T &2 cTaAqA & TE AT AATAS T <10 Ga8 1 $THAST &1 i a=em fisy vl
Or
What do you mean by selection of personnel ? describe in model procedure for selection of personnel in an
institution.
S o1 O & Te Q39 FIT FASAL 2T @ TH AT AT <1 IT 6T T3 6T U 31eeT Yish A1 HM
- [T FIS T
Unit-2
2. What is training ?discuss in brief the various training methods.
T2y &7oT &/ &2 T &7 =1 w2y ayor wgfay of &1 ®fEf faveq Fqofaot HAifsr v 5+15
Or
What do you mean by performance appraisal? describe the different methods of performance appraisal.
fo¥ SUTgeT Helichel 4T &2 & SuTea Fel@ida $T fa & =7 3 T A a1 guiaot ifor v |
Unit-3
3. Define marketing research? what are the areas of marketing research. what is procedure of conducting
marketing research £ 5+15
o quTet 9er =Rt G AT o RITST T 23 UUTA 3199 & o & 817 Hif 88 | fy 9ore sag & ool 3MATST T &3 $T
gt areT 87
Or
Describe the various types of distribution channels ?
& aor arfg #1301 F 3 & 71 yRT &1 guiact Hifs )
Unit-4
4.What do you mean by financial management ?explain its characteristics and importance. 20

¥ ol wae Y39 3T GHSE ? ST ¥ oY arivdAgea &1 gl FifS Tl
Or

Describe the various sources of finance.

gaary & fa o & 14 & =7 ¥iatl &1 gotat fifF vl
Unit-5
5. Define production management? explain the scope of production management.
UG Y9y F g H1Y F SIS U1 Icures yae &1 &7 &1 fd a== 1S vl
Or
Write short notes on the following:
1. Production design
2. Materials management
for Fafor f@ @ o ey f@ea f& caoft for iy )
1. 3care+ 3 S
2. ATHEA 9§



S. S. Jain Subodh Girls PG College Sanganer Jaipur
Internal exam 2022
B.com part-3
Business Administration
Paper-second
Advertising and sales management

Time-3 hours Max.marks.100

Attempt any five questions each question is equal marks.
5= g wai & 3w Q50 vAS W &1 375 99
unit-1

Answer the following five MS model of advertising explain it.? 20

fasiras Y 5 pw v wia+u aiza &) sasmEv!

Unit-2
2. Describe in brief the process of scientific advertising Campaign what are the essentials of effective
advertising? 10+10

dsnfres fasma= arfiraTs & 9von &1 Gaw § goia HIFET |wurd fasma= i smawgs ard 7 ée
Or
What do you understand about advertising budgets? explain the various methods of advertising

budget.

farsTas as1e o & 2o aste ) fafis fafaat &1 qofa Sfsoi
Unit-3 E
3. What is an advertising agency? describe the important functions of an advertising agency.
farstra= gt & # »fasma= vart & g &rd 9|
Or
Define advertising effectiveness? describe the methods of advertising effectiveness.

fasTas waTaierar = &2 fasmas wyraferan & fafirs fafeat &1 avi= SiiFvl 5415

Unit-4
4. What are the qualities of a successful salesman?
Us 96 famasat & 1ort &1 avfa HifFvl 20
Or

What do you mean by sales forecasting? describe the various methods of sales forecasting.

frera qatgam & Far 3mrg ¢ ey qatfmm A fafis fafémt & qofa S5

Unit-5
5. What do you mean by consumer psychology? describe the methods of consumer psychology.
ITWIEET AT & #2 31 3uwraaT s fas & fafiaY & qofa difF) 20
Or

What do you mean by sales territory? discuss the reasons for establishing sales Territories.

faea v ot &2 famg wia &) wunftra &9 fosar st & ST aaE0|



S. 8. Jain Subodh Girls P. G. College, Sanganer, Jaipur
Internal exam 2022

B.Com.-III
Economic Administration and Financial Management
Paper I
Rural Development and Cooperation
Time allowed: 3 hrs. Maximum Marks: 100

No supplementary answer book will be given to any candidate. Hence the candidates
should write the answers precisely in the main answer book only.

el sft el A1 & scaRgfas @ § sl sufar sEficart #t Faa e
o YREa®H A § 3l F Srw-3rF forgen aifgw)
Attempt all questions taking one from each unit. Each question is of 20 marks.
Unit- 1
Q. 1 Explain the concept and significance of rural development?

AT RAF1E A HTURUT UF Aged & <ATEAT HIfAT |

or

Q.2 What do you mean by strategy for rural development briefly explain the
current issues of rural development?

TrHAIT AT A g T F IS qqC U IoAe AR vy #&
e FfSe |
Unit - 2

Q. 3 The achievements and failures of panchayati Raj give suggestions for the
solution of problem?

TURIARTS T 3qAfUA JUT FIHEAAHT 9 IH1 ST FAEE F
AT g goE Q9w |
or

Q. 4 Describe the importance of rural infrastructure Explain Pradhan Mantri
Gram Sadak Yojana?

ATHOT ITUR FITAT FT HAged 10 f& JHior g5+ AT 9T Tahrer
sifeT |



&

Unit -3

Q.5 Explain new rural development programs
arAoT e §F JdT FEAFAT H JrEgT ST |

or

Q. 6 Critically explain the Mahatma Gandhi national rural employment
guarantee act?

AgTeAT el AT AT PR IRE HffATA H FEETCAS
et FIfAT |

Unit - 4
Q.7 Explain briefly the programs related to tribal welfare in India?

HRT & TSI FI0T § FE0d FF HAT &1 Fiaeg qofa Hife |

or

Q.8 Write an essay on child development programs?

a9 R FRiEA W e dw AT |
Unit-5
Q.9 Define cooperation and discuss the various principles of cooperation?

Feaiar 1 aitemyr ST gur Fewiar & Rgar Hi sarear ffSw |

or

Q.10 Evaluate the operation of Rajasthan state cooperative bank?

USEIT T ean! da W feoqoft fifewe |



S.S. Jain Subodh Girls P.G. College, Sanganer, Jaipur
Internal Examination, 2022
B.Com Part-I11
(Faculty Of Commerce)
Economic Administration And Financial Management
Paper-11
(Business Budgeting)

Time Allowed: 3 Hrs. MaximumM arks: 100

Attempt any five questions taking one from each section. All questions carry equal marks. (20)
Unit -1

Q. 1 What do you understand by performance budgeting? Describe the various stages for
performance budgeting?

forsqIEs 9ed @ WY T FAHA & [os91es deo #1 [ afdee sraeyr3t ar wimanat 1 avia fifaw
or

Q. 2 A glass Manufacturing company requires you to prepare the master budget for the year from the
following information:

v Frema forator Fo=t smod Preafaf@a gaan @ a¥ &1 Arvet 97 AR FaE aEdt -

Toughened glass Rs. 3,00,000

Bent toughened glass Rs. 5,00,000

Direct material cost 60% of sales

Direct wages 20 workers @ Rs, 150 p.m.
Factory overheads: Indirect labour: Work manager- Rs. 500 p.m.

Forman- Rs. 400 p.m.

Stores and spares 2.5% on Sales
Depreciation on machine Rs. 12,600
Light and power Rs. 5,000
Repair and maintenance Rs. 8,000

Other sundries 10% on Direct wages



Administration selling and
distribution expenses Rs. 14,000 annually
Unit - 11
Q. 3 What is meant by business forecasting? explain briefly the various methods of forecasting?
SATEATTAS qaieATa § 41 H1e ¢ Q@A 3 e Rftat f @ffca sarear fifee)
or

Q. 4 If the demand of eggs in Chennai is 50, Calculate estimated demand at Jaipur from the following
information:

IfE I=a1% # e orew A At 50§ A Frafaf@a gaean & s & srqanfaa aner iy o fifse
Average demand at Chennai (X) = 60
Average demand at Jaipur (y) = 62
Standard deviation of Chennai (ox)=3
Standard deviation of Jaipur (gy) = 2.5
Correlation Coefficient (r) = 0.6
Unit - 11

Q. 5 Estimate the cash requirements of Jaipuria fruit company limited for June 2010 on the basis of
data given below

i forw are st & amuR SgRET §E 9 fafits T #2010 F fow Aast gt w1
HHATA TIMFT HY
Sales February 2010 Rs. 25,000

March 2010 Rs.20,000

April to June 2010 Rs.30,000 per month

Roughly half the sales are for cash 90% of credit sales are collected in the month following the month
of sales and the balance in one month later

fruits are always bought for cash to avail the cash discount of 5% the purchase budget for the second
quarter April to June was Rs.15,000 basket per monthRs. 1 per basket

Wages and salaries for second quarter were budgeted at Rs.5000 per month
manufacturing and other expenses budgeted for the quarter are as follows
AT wLadr 2010 Rs.25,000

AT 2010 Rs.20,000



3rde & 3 2010 Rs.30,000 9T AT

1 7 3T & Fsh g A 21l & SuR faedhy 7 90% FadhY & v ATE @1g aqA glar e v dw ufdr
TR M TH ATE TG |

5% FAHE T HT ATH Ao HIo1 & (070 B FAATAHE A WU AT ¢ Gradd (THTE! I 8 154 &
forw 978 o7 Rs. 1 9fer €1 #Y T & 15,000 Y+ Rt wfay A€ ¥

zfada faadt & fore Aol va da+ T97€ Rs.5000 TT3HTE ¢
faamd & o AT Fu T Icaai F T SHIFRE

AFeC g Rs.4500
4E5 ) Rs.7500
fasa Rs.3000

TS IFaA AT IATH Rs.2000

Q. 6 What do you understand why budgetary control? discuss main characteristics and objects of
budgetary control.

Tore foraaoT & 3T T FASA §? Fore faaTor Y o Rrevare aur 3Redi f REwar fifee
Unit - IV

Q. 7 A producer has to make a choice between semi automatic and automatic machines producing
same product however the quality of production from automatic machine is somewhat better details
regarding 2 machines are given as follows

UF 3cUTGH &1 U 8 TR F1 3c91E a1 aTelt JEaafad va Fautfad #Aefil # & v &1 99
AT § | AT IcuTe 1 IOTaedT Faariord Al 7 FE red) ¢ alal #efier & faavor e v
¢

Automatic Semi Automatic
fixed cost Rs.4,00,000 Rs.2,50,000
variable cost Rs.36 Rs.40
selling price Rs.61 Rs.60

at what level of output and sales the profit from the 2 machines will be equal below which
semiautomatic is profitable and above which automatic is profitable

3cUTes va fadh & frg Tav et i) Aeat &1 913 §AT 8 ayT 5w A 3 waaifera amsve
T YT SEF FUT FaTITad THIE &

or

Q.8 What do you mean by product mix? What factors are to be taken into consideration while
choosing the best product mix?



&)

FouTe FAAroT @ 3T 4T FHSTS §? 3eUTE AT T 999 F3a AT A fFa aeal w faw e
JTaTE?

Unit-V
Q.9 What is project planning? Explain the essentials of good project planning.
T fAass #7412 v 3cad IR a9 & J1ad« dog a0 |
or

Q. 10 The capital structure of shayam limited is as follows:

wrH fafares i & dvaen T vor € -
Equity sharesRs.10 each 20,00,000
retained earnings 10,00,000
9% preference shares Rs.100 each 5,00,000
12% debentures Rs. 100 each 15,00,000

The equity shares of the company sales for 30 itis expected that company will pay dividend of 3
per share this year corporate tax rate is 50% assume 20% as income tax rate of individual shareholder
computer weighted average cost of capital of existing capital structure

FAT T THAT 32 TSR A Rs. 30 9 Rvel1 §1 | FIA ZaRT 58 I§ Rs.3 9l 3ver amsmer e o=t 1
ST ¥ oI FT Y & 50% ¥1 srerenfyat Y safFara 3m7 FI & 20% ATAC| FuA Rrg@H gt
WIAAT $T HRGFA A AT AT HI |



